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XII'INDIAN ECO. FULL LENGTH TEST-1

TIME: 90 MINUTES M.M.: 40
Multiple choice questions :

1. programme was started in China with the aim of industrialisation. 1
(a) Great Leap Forward (b) Great Proletarian Cultural Revolution
(c) One child policy d) None of these

2. Rank India, Pakistan and China in terma of better value of human development index. 1
(a) 1st—Pakistan; 2" — China; 3" - India (b) 1st—Pakistan; 2" — India; 3 — China
(c) 1%t — China; 2" — Pakistan; 3 — India (d) 1%t = China; 2" — India; 3" — Pakistan

3. is the main reason for soil erosion. 1
(a) Ozone Depletion (b) Air Pollution (c) Deforestation (d) None of these

4, Sustainable development can be achieved by : 1
(a) Restricting use of renewable resources (b) Controlling the growth of population
(c) Controlling pollution (d) All of these

5. is the observed and projected increase in the average temperature of earth’s atmosphere
and oceans. 1
(a) Global Warming (b) Biodiversity Loss (c) Ozone Depletion (d) Deforestation

6. Which of the following is not a measure to meet power crisis? 1
(@) Improvement in Plant load factor (b) Control of transmission and distribution losses
(c) Increase in production capacity (d) Encourage use of non-renewable sources

7. ISM stands for: 1
(a) Indian System of Medical (b) Indian Systems of Medicine
(c) Indian System of Mediclaim (d) None of these

8. From which of the following sources of generation,we get the largest amount of power? 1
(a) Thermal Power (b) Hydro-electric Power (c) Atomic Power (d) Tidal Power

9. refers to sources of energy which have come into use only recently. 1
(a) Conventional (b) Non-Conventional (c) Both (a) and (b) (d) Neither (a) and (b)
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What is Morbidity? 1

Which sector has the largest share in total consumption of commercial energy? 1

Match the items given under ‘A’ with the suitable statements under ‘B’: 1
A B

Great Proletarian Cultural Revolution (a) India

Shows level of growth and development of a country (b) China

Sixth most populous country in the world (c) Human Development Index

To transform Agrarian Economy into Modern Economy (d) Pakistan

Highest Density of Population (e) Great Leap Forward Campaign

Fill in the blanks : 1+1=2

(a) First Five Year Plan of commenced in the year 1956. (Pakistan/China)

(b) Reformsiin were introduced in 1978. (China /Pakistan)

Environment is able to perform its functions easily as long as demand on these functions is within its
carrying capacity. What does the term ‘Carrying Capacity’ imply? 2

On 6" November 2016,the following news item was printed in the Hindu: “Delhi’s air quality turns

hazardous”. What possible steps can be taken to control the air pollution? 3
Explain the Great Leap Forward Campaign of China as initiated in 1958. 3
Distinguish between conventional and non-conventional sources of energy. 3

Briefly discuss the similarities in the developmental strategies followed by India,Pakistan and China. 4
What is meant by environment? Briefly discuss its various functions. 5

Discuss the importance of infrastructure. 6
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